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X117 29 ruled; we seize it — 19050 MK K17 29

OVERVIEW

In the case where two people were arguing over the ownership of a boat, and one
of them asked 7"*2, to seize the ship until he will bring witnesses that it is his; there
is a dispute whether we seize the boat (X137 27) or not (777 27). There is a
subsequent dispute if (for whatever reason') 7™32 seized the boat (and no one
brought proof), does 72 release the boat and rule 3"X73 (the view of X955 27) or not
(7717 27). Our MO discusses whether these two disputes are dependent on each
other.

— 1Pt 0Iwn ‘o0npn Y
The 2"2w" explained the reason X117 27 maintains j1°09n because he also

maintains that 7"°2 releases the x27x after it seized it, if no proof was shown -
— %1379 NY 19095 'NT DIUN 120N XY TINT AN 2

And *'"% who maintains that we do not seize the X297, that is because "
maintains that once 7"2 seizes the X2 (at the request of either one or both of the
litigants), 72 does not release it.

mooin disagrees with this interpretation:
— DT N MINT PNYS 139295 NN PN

And the >''1 does not agree to have the argument regarding 71°05n depend on the

dispute concerning j1°po7 -
— 1950902 999947 37 1359913 1729992 SXIINN 113N 31999 N9

Since these 2°87 R who argue regarding j9pp» (namely 2"71 °"7) are not the
same 2°8712X who argue regarding 32°02n (namely 7" °"9).

"'See H"x 7"7 0"awn.
% See TIE (previously) K 17"7 '010 X,02 2"2 footnote # 1 as to the interpretation of '07unpPn o'
? See X117 21 71"7 2" 2w
* The X3 states clearly that "1 maintains (that if j2°09n, then) 1°pan X5.
> We can assume that 3"X73 is some resolution to the matter; however it is not as good as the resolution of a7y,
therefore if the rule would be 12°po7, then 7"°2 would be 11°05n pending the resolution of 0>7v, if no 0>7v appeared we
can fall back to the lesser resolution of 3"X7> (by 119n). [This would be the reasoning of 71"7.] However if we
maintain 7°pan X7 (for whatever reason) then we cannot say 11090, for then if there will be no 0>7y, there will be no
resolution at all since 7°pon X7 (and the 827X would remain by 7"2).
® If the explanation is according to the "2, it should have been 71"7 who maintains 7357 and that would explain
(according to the 0"aw") why he maintains 71°09n.
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mooIn offers his interpretation:
— 199999 KD 9INRT INNY 1DAN 1320907 9INRT NN 297 AN 72Y

Therefore it is the view [of the *"7] that 77''% maintains 31°02n even according to

the one who maintains J3°p2% X® (namely 777 "), nevertheless we say 11°09n -
— o1y NYAW N9Y KINDIINT
Because we believe (the person who asks us to seize it for him until he brings

proof) that he will bring witnesses that it belongs to him -
— 15799 9INT INIY 179N 12090 XY 9INT NN 29

And >'"= who maintains 339220 X% that is valid even according to the one who
maintains 339227 (namely 5"), for the ruling of 11°pon -
— 192099 XY NYINNIY DAN 925 1320INT NI 13N

Is valid only where we were already 33°o5n, however initially j3°05n XY -
— 595101 59 NI 210 YW 9939 $13 KDY D1 11959 NY N1YT 139WNT

Because we are concerned that perhaps he will not bring 2°7y and we will not
know how to determine to whom the ¥27X belongs and to whom it should be
returned -

19292 03999 139 PPN 7o
Therefore 7"°21 should not be involved in this matter.

SUMMARY
The 2"2w" maintains that the disputes of 11°05n and J1°pon are dependent on each
other, while N1901n maintains they are independent of each other.

THINKING IT OVER
What would be the ruling if both parties asked 7"2 to be 0911?° Or if both parties
asked 7"2 to be pon?

7 We are assuming now that j°pon &2, The one who is asking 7"2 to be 0910 because he claims he has o7y, realizes
that if he does not bring the 0>7y, he will lose any chance to acquire the X2 (since 7°pon X%). If he has no o°7v, it
would be better for him that 7"°2 rule now 2"X72, so he has at least some chance of acquiring the X27X. Therefore
(since he is asking for 70°5n), we assume that he is confident that he will bring o°7¥ (and he realizes that if the ruling
will be 2"X75 he may lose).
¥ Once something is in the possession of 7"2 it may be appropriate (according to 5"3) for 7" to release it and rule
3"X72 (for then there is some possibility that it will go to the rightful owner, as opposed to 1°pon X?), however to
have 7""2 seize an item for which it would then be responsible to return it to its rightful owner, and perhaps not be
able to do so, would be violating the integrity of the 7"*2. It is better not to be involved at all. [Perhaps this view
would be better understood if we assume that 3"X73 is not an actual ruling of 7", but rather an ‘un-involvement’ of
"]
? See (M22) X"av A “n footnote # 198,
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